



Sharp sufficient conditions for oscillation of second-order general noncanonical difference equations

P. Gopalakrishnan^{1*} and A. Murugesan²

Abstract

We derive new oscillation conditions for the second-order noncanonical difference equation with deviating argument of the form

$$\Delta(r(\xi)(\Delta x(\xi))^\gamma) + q(\xi)x^\delta(\xi + \kappa) = 0; \quad \xi \geq \xi_0,$$

where γ and δ are quotients of odd positive integers and κ is an integer. Examples are provided to illustrate our established results.

Keywords

Oscillation, nonoscillation, second-order, canonical, noncanonical, delay, advanced, difference equations.

AMS Subject Classification

39A21.

¹Department of Mathematics, Mahendra Arts & Science College (Autonomous), Kalipatti-637501, Tamil Nadu, India.

²Department of Mathematics, Government Arts College (Autonomous)-636007, Tamil Nadu, India.

*Corresponding author: ¹ gopalmathematics@gmail.com; ² amurugesan3@gmail.com

Article History: Received 24 January 2021; Accepted 23 March 2021

©2021 MJM.

Contents

1	Introduction	1141
2	Preliminaries	1142
3	Delay Equation	1143
4	Advanced Equation	1144
5	Examples	1145
	References	1146

1. Introduction

Recently, there is a great attention to research the oscillation and asymptotic behaviour of difference equations, one may refer to [2, 5, 11, 16–18]. One may refer [1, 8, 9, 14] to the general theory of difference equations. Solutions to second-order difference equations may have a variety of dynamical behaviours. Here, we consider only sufficient conditions which ensures that the equation (1.1) is oscillatory.

We investigate the second-order noncanonical difference equations given by

$$\Delta(r(\xi)(\Delta x(\xi))^\gamma) + q(\xi)x^\delta(\xi + \kappa) = 0; \quad \xi \geq \xi_0, \quad (1.1)$$

where Δ is called the forward difference operator and it is given by $\Delta x(\xi) = x(\xi + 1) - x(\xi)$.

Throughout paper, the constraints given below are presumed to be hold:

(C₁) $\{q(\xi)\}_{\xi=\xi_0}^\infty$ is a nonnegative real sequence which is not identically zero eventually;

(C₂) $\{r(\xi)\}_{\xi=\xi_0}^\infty$ is a positive sequence of real numbers;

(C₃) κ is an integer;

(C₄) $\gamma, \delta \in \{\frac{a}{b}: a \text{ and } b \text{ are odd positive integers}\}$.

“Let ξ_0 be a nonnegative integer that is fixed. A real sequence $\{x(\xi)\}$ defined for $\xi \geq \min\{\xi_0, \xi_0 + \sigma\}$ and satisfies the (1.1) for $\xi \geq \xi_0$ is called a solution of (1.1). An oscillatory solution $\{x(\xi)\}$ of (1.1) is a solution of (1.1) if $K > 0$ is a positive integer, then there exists an integer $\xi \geq K$ with the property that $x(\xi)x(\xi + 1) \leq 0$. Otherwise $\{x(\xi)\}$ is called a nonoscillatory solution. If every solution of the equation (1.1) are oscillatory, then the (1.1) said to be oscillatory” [12].

We say that (1.1) is canonical if

$$R(\xi) := \sum_{s=\xi_1}^{\xi-1} \frac{1}{r^{\frac{1}{\gamma}}(s)} \rightarrow \infty \quad \text{as } \xi \rightarrow \infty$$

and it is said to be noncanonical in the opposite case. We define the sequence $\{\phi(\xi)\}$ for noncanonical difference equation by

$$\phi(\xi) := \sum_{s=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(s)}. \tag{1.2}$$

Li and Cheng [10], analyze the second-order difference equation

$$\Delta(p(\xi)(\Delta(y(\xi)))^\kappa) + q(\xi+1)f(y(\xi+1)) = 0 \quad \xi = 0, 1, 2, \dots \tag{1.3}$$

where κ is ratio of odd positive integers and derived conditions which are sufficient for the oscillation of the above equation.

Zhang and Li [19], investigated the functional difference equation of second-order with advanced argument

$$\Delta(a(\xi)\Delta x(\xi)) + p(\xi)(x(g(\xi))) = 0 \tag{1.4}$$

and developed sufficient conditions for oscillations (1.4) under the conditions

$$\sum_{s=n_0}^{\infty} p(s) = \infty.$$

Peng et al. [15] investigated oscillatory properties of the second-order difference equation

$$\Delta(r(\xi-1)(\Delta(y(\xi-1)))^\kappa) + q(\xi)f(y(\xi)) = R(\xi) \tag{1.5}$$

and given sufficient conditions for oscillation and asymptotic properties of solutions of (1.5).

Dinakar et al. [6] established sufficient conditions under which all solutions of the second-order half-linear advanced difference equation

$$\Delta(r(\xi)(\Delta x(\xi))^\gamma) + q(\xi)x^\gamma(\kappa(\xi)) = 0, \quad \xi \geq \xi_0 \tag{1.6}$$

are either oscillatory or tending to zero.

Chandrasekaran et al. [4] used a new improved method and established oscillation criteria for the solutions to the second-order advanced difference equation

$$\Delta(r(\xi)\Delta x(\xi)) + q(\xi)x(\kappa(\xi)) = 0, \quad \xi \geq \xi_0 \tag{1.7}$$

using the difference equation

$$\Delta(r(\xi)\Delta x(\xi)) + q(\xi)x(\xi+1) = 0, \quad \xi \geq \xi_0. \tag{1.8}$$

We [13] also derived new oscillatory conditions for the second-order noncanonical delay and advanced difference equations of the form

$$\Delta(r(\xi)\Delta x(\xi)) + q(\xi)x(\xi+\kappa) = 0, \quad \xi \geq \xi_0 \tag{1.9}$$

by creating monotonical properties of nonoscillatory solutions.

Grace et al. [7] established new oscillation conditions for all solutions of the following nonlinear second-order neutral difference equations.

$$\Delta(a(\xi)(\Delta u(\xi))^\gamma) + b(\xi)y^\gamma(\xi-\tau+1) + c(\xi)y^\mu(\xi+\kappa+1) = 0 \tag{1.10}$$

and

$$\Delta(a(\xi)(\Delta u(\xi))^\gamma) = b(\xi)y^\gamma(\xi-\tau+1) + c(\xi)y^\mu(\xi+\kappa+1), \tag{1.11}$$

where $u(\xi) = y(\xi) + q_1(\xi)y^\beta(\xi-k) - q_2(\xi)y^\delta(\xi-k)$.

In this paper, we establish sufficient conditions for oscillation of all solutions to the equation (1.1).

In the following section, we presume that if a functional inequality is written without a domain of validity, it holds eventually, for the sake of convenience.

2. Preliminaries

For the set of eventually positive solutions of (1.1), the following structure can be seen:

Lemma 2.1. *An eventually positive solution $\{x(\xi)\}$ of (1.1) fulfils one of the following criteria.*

$$(A_1) : r(\xi)(\Delta x(\xi))^\gamma > 0, \Delta(r(\xi)(\Delta x(\xi))^\gamma) < 0.$$

$$(A_2) : r(\xi)(\Delta x(\xi))^\gamma < 0, \Delta(r(\xi)(\Delta x(\xi))^\gamma) < 0.$$

The following result demonstrates that the case (A_*) is the most significant.

Lemma 2.2. *If*

$$\sum_{s=\xi_1}^{\infty} q(s) = \infty, \tag{2.1}$$

then every eventually positive solution $\{x(\xi)\}$ of (1.1) satisfies (A_) of Lemma 2.1 and moreover $\{\frac{x(\xi)}{\phi(\xi)}\}$ is an increasing sequence.*

Proof. We may suppose, on the contrary, that $\{x(\xi)\}$ is an eventually positive solution of (1.1) which satisfies the condition (A_1) for $\xi \geq \xi_1 \geq \xi_0$. Summing the (1.1) from ξ_1 to ∞ , we get

$$r(\xi_1)(\Delta x(\xi_1))^\gamma \geq \sum_{s=\xi_1}^{\infty} q(s)x^\delta(s+\kappa).$$

Since $\{x(\xi)\}$ is a positive increasing sequence, then there is a constant $\nu > 0$ with $x(\xi) \geq \nu$ and $x^\delta(\xi+\kappa) \geq \nu^\delta$ eventually. Therefore, we obtain

$$r(\xi_1)(\Delta x(\xi_1))^\gamma \geq \nu^\delta \sum_{s=\xi_1}^{\infty} q(s),$$



which contradicts (2.1) and this implies that $\{x(\xi)\}$ satisfies (A_*) . By the decreasing nature of $\{r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi)\}$, we get

$$-x(\xi) \leq r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi) \sum_{s=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(s)} = r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi)\phi(\xi). \quad (2.2)$$

Compute

$$\Delta \left(\frac{x(\xi)}{\phi(\xi)} \right) = \frac{r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi)\phi(\xi) + x(\xi)}{r^{\frac{1}{\gamma}}(\xi)\phi(\xi)\phi(\xi+1)} \geq 0$$

and hence proved. □

Lemma 2.3. *If $\{x(\xi)\}$ is an eventually positive solution of (1.1) and*

$$\sum_{u=\xi_1}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u)} \left(\sum_{s=\xi_1}^{u-1} q(s) \right)^{\frac{1}{\gamma}} = \infty, \quad (2.3)$$

holds, then

$$\lim_{\xi \rightarrow \infty} x(\xi) = 0. \quad (2.4)$$

Proof. We can easily analyze that (2.3) gives (2.1) and by Lemma 2.2, we ensure that the eventually positive solution $\{x(\xi)\}$ satisfies (A_*) of Lemma 2.1. Hence $\{x(\xi)\}$ is decreasing sequence and we conclude that there exists a finite number μ with $\lim_{\xi \rightarrow \infty} x(\xi) = \mu \geq 0$. We claim that $\mu = 0$. If not, then $\lim_{\xi \rightarrow \infty} x(\xi) \geq \mu > 0$ and $(x(\xi + \kappa))^{\delta} \geq \mu^{\delta} > 0$ eventually. A summation of (1.1) from ξ_1 to $\xi - 1$ gives

$$-r(\xi)(\Delta x(\xi))^{\gamma} \geq \mu^{\delta} \sum_{s=\xi_1}^{\xi-1} q(s).$$

Sum the above inequality from ξ_1 to ∞ , we attain

$$x(\xi_1) \geq \mu^{\frac{\delta}{\gamma}} \sum_{u=\xi_1}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u)} \left(\sum_{s=\xi_1}^{u-1} q(s) \right)^{\frac{1}{\gamma}},$$

which contradicts (2.3) and implies that $x(\xi) \rightarrow 0$ as $\xi \rightarrow \infty$. □

Lemma 2.4. *If $\{x(\xi)\}$ is an eventually positive solution of (1.1) with (2.3) and*

$$\sum_{s=\xi_1}^{\infty} q(s)\phi^{\delta}(s + \kappa) = \infty, \quad (2.5)$$

holds, then $\lim_{\xi \rightarrow \infty} \frac{x(\xi)}{\phi(\xi)} = \infty$.

Proof. We can easily analyze that (2.3) gives (2.1). Then by Lemma 2.2, we see that the eventually positive solution $\{x(\xi)\}$ satisfies (A_*) of Lemma 2.1. Applying Discrete L'Hospital's rule, we get

$$\lim_{\xi \rightarrow \infty} \frac{x(\xi)}{\phi(\xi)} = \lim_{\xi \rightarrow \infty} (-r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi))$$

and so it is sufficient to show that $\lim_{\xi \rightarrow \infty} (-r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi)) = \infty$. By contrary, assume that the positive increasing sequence $(-r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi))$ has a finite limit. Hence there exists a constant $M > 0$ with the property that

$$-r^{\frac{1}{\gamma}}(\xi)\Delta x(\xi) \leq M < \infty \quad (2.6)$$

Summing (1.1) from ξ_1 to $\xi - 1$, we have

$$\begin{aligned} M^{\gamma} &\geq -r(\xi)(\Delta x(\xi))^{\gamma} \geq \sum_{s=\xi_1}^{\xi-1} q(s)x^{\delta}(s + \kappa) \\ &\geq \frac{x^{\delta}(\xi_1 + \kappa)}{\phi^{\delta}(\xi_1 + \kappa)} \sum_{s=\xi_1}^{\xi-1} q(s)\phi^{\delta}(s + \kappa) \end{aligned} \quad (2.7)$$

where, we used that $\{\frac{x(\xi)}{\phi(\xi)}\}$ is a positive increasing sequence. The above inequality (2.7) contradicts (2.5) which implies that $\frac{x(\xi)}{\phi(\xi)} \rightarrow \infty$ as $\xi \rightarrow \infty$. □

We now present oscillation conditions for (1.1).

3. Delay Equation

Theorem 3.1. *Let $\kappa \leq -1$. Assume that $\gamma > \delta$, and (2.3) holds. If*

$$\limsup_{\xi \rightarrow \infty} \phi^{\gamma}(\xi) \sum_{s=\xi_1}^{\xi-1} q(s) > 0, \quad (3.1)$$

then (1.1) oscillates.

Proof. Let us suppose, on the contrary, that $\{x(\xi)\}$ is a nonoscillatory solution of (1.1). Without lacking generality, we assume that $x(\xi) > 0$ for $\xi \geq \xi_1$. The Condition (2.3) gives (2.1) which assures that $\{x(\xi)\}$ is from class (A_*) . Suppose

$$\limsup_{\xi \rightarrow \infty} \phi^{\gamma}(\xi) \sum_{s=\xi_1}^{\xi-1} q(s) > 0.$$

Then there is a positive constant $K > 0$ with the property that

$$\phi^{\gamma}(\xi) \sum_{s=\xi_1}^{\xi-1} q(s) > \frac{1}{K^{\gamma}}. \quad (3.2)$$

Summing (1.1) from ξ_1 to $\xi - 1$, we obtain

$$-\Delta x(\xi) \geq \frac{1}{r^{\frac{1}{\gamma}}(\xi)} \left(\sum_{s=\xi_1}^{\xi-1} q(s)x^{\delta}(s + \kappa) \right)^{\frac{1}{\gamma}}.$$



Sum the previous inequality from ξ to ∞ , we attain

$$\begin{aligned} x(\xi) &\geq \sum_{u=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u)} \left(\sum_{s=\xi_1}^{u-1} q(s)x^\delta(s+\kappa) \right)^{\frac{1}{\gamma}} \\ &\geq \left(\sum_{u=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u)} \right) \left(\sum_{s=\xi_1}^{\xi-1} q(s)x^\delta(s+\kappa) \right)^{\frac{1}{\gamma}} \\ &= \phi(\xi) \left(\sum_{s=\xi_1}^{\xi-1} q(s)x^\delta(s+\kappa) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi)x^{\frac{\delta}{\gamma}}(\xi+\kappa-1) \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi)x^{\frac{\delta}{\gamma}}(\xi+\kappa) \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}}. \end{aligned} \tag{3.3}$$

Since $\{x(\xi)\}$ is positive decreasing sequence and $\lim_{\xi \rightarrow \infty} x(\xi) = 0$, $x(\xi) \leq K\delta^{-\frac{\gamma}{\delta}}$ and $x^{\frac{\delta}{\gamma}-1}(\xi+\kappa) \geq K$ for $\xi \geq \xi_1$. By employing the above estimate in the inequality (3.3), we get

$$\begin{aligned} x(\xi) &\geq \phi(\xi)x(\xi+\kappa)K \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi)x(\xi)K \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \end{aligned}$$

and

$$\frac{1}{K^\gamma} \geq \phi^\gamma(\xi) \sum_{s=\xi_1}^{\xi-1} q(s),$$

which contradicts (3.2) and thus we have (1.1) is oscillatory. \square

Theorem 3.2. Let $\kappa \leq -1$. Assume that $\gamma < \delta$, (2.3) and (2.5) holds. If

$$\limsup_{\xi \rightarrow \infty} \phi^\gamma(\xi)\phi^{\delta-\gamma}(\xi+\kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > 0, \tag{3.4}$$

then (1.1) oscillates.

Proof. Assume on the contrary that $\{x(\xi)\}$ is a nonoscillatory solution of (1.1). We may suppose, without lacking generality, that $\{x(\xi)\}$ is an eventually positive solution of (1.1) with $x(\xi) > 0$ for $\xi \geq \xi_1$. By condition (2.1), we see that $\{x(\xi)\}$ is from class (A_*) . By

$$\lim_{\xi \rightarrow \infty} \phi^\gamma(\xi)\phi^{\delta-\gamma}(\xi+\kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > 0,$$

we arrive at the conclusion that there exists a constant $L > 0$ with

$$\phi^\gamma(\xi)\phi^{\delta-\gamma}(\xi+\kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > \frac{1}{L^\gamma}. \tag{3.5}$$

Since $\{\frac{x(\xi)}{\phi(\xi)}\}$ is positive increasing sequence and $\lim_{\xi \rightarrow \infty} \frac{x(\xi)}{\phi(\xi)} = \infty$, we have

$$\frac{x(\xi)}{\phi(\xi)} \geq L\delta^{-\frac{\gamma}{\delta}}$$

and

$$x^{\frac{\delta}{\gamma}-1}(\xi+\kappa) \geq \phi^{\frac{\delta}{\gamma}-1}(\xi+\kappa)L \text{ for } \xi \geq \xi_1.$$

Summing (1.1) from ξ_1 to $\xi - 1$ as followed in the proof of Theorem 3.1, one get (3.3). Using the above estimate in the (3.3), we get

$$\begin{aligned} x(\xi) &\geq \phi(\xi)x(\xi+\kappa)\phi^{\frac{\delta}{\gamma}-1}(\xi+\kappa)L \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi)x(\xi)\phi^{\frac{\delta}{\gamma}-1}(\xi+\kappa)L \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \end{aligned}$$

and

$$\frac{1}{L^\gamma} \geq \phi^\gamma(\xi)\phi^{\delta-\gamma}(\xi+\kappa) \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right),$$

which contradicts (3.5). Thus, (1.1) is oscillatory. \square

4. Advanced Equation

Theorem 4.1. Let $\kappa \geq 1$. Assume that (2.3) holds and $\gamma > \delta$. If

$$\limsup_{\xi \rightarrow \infty} \phi^\gamma(\xi) \sum_{s=\xi_1}^{\xi-1} q(s) > 0, \tag{4.1}$$

then (1.1) oscillates.

Proof. We may suppose, on the contrary and without lacking generality, that $\{x(\xi)\}$ is an eventually positive solution of (1.1). We conclude that there is an integer $\xi_1 \geq \xi_0$ such that $x(\xi) > 0$ for $\xi \geq \xi_1$. By condition (2.3), we have (2.1) and we assures that $\{x(\xi)\}$ is belongs to the class (A_*) . If

$$\limsup_{\xi \rightarrow \infty} \phi^\gamma(\xi+\kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > 0,$$

then there is a positive constant $k > 0$ with

$$\phi^\gamma(\xi+\kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > \frac{1}{K^\gamma}. \tag{4.2}$$



Summing (1.1) from ξ_1 to $\xi + \kappa - 1$, we obtain, we have

$$-\Delta x(\xi + \kappa) \geq \frac{1}{r^{\frac{1}{\gamma}}(\xi + \kappa)} \left(\sum_{s=\xi_1}^{\xi+\kappa-1} q(s)x^\delta(s + \kappa) \right)^{\frac{1}{\gamma}}.$$

Sum the above inequality from ξ to ∞ , one get

$$\begin{aligned} x(\xi + \kappa) &\geq \sum_{u=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u + \kappa)} \left(\sum_{s=\xi_1}^{\xi+\kappa-1} q(s)x^\delta(s + \kappa) \right)^{\frac{1}{\gamma}} \\ &\geq \left(\sum_{u=\xi}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u + \kappa)} \right) \left(\sum_{s=\xi_1}^{\xi+\kappa-1} q(s)x^\delta(s + \kappa) \right)^{\frac{1}{\gamma}} \\ &= \phi(\xi + \kappa) \left(\sum_{s=\xi_1}^{\xi+\kappa-1} q(s)x^\delta(s + \kappa) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi + \kappa) \left(\sum_{s=\xi_1}^{\xi-1} q(s)x^\delta(s + \kappa) \right)^{\frac{1}{\gamma}} \\ &\geq \phi(\xi + \kappa)x^{\frac{\delta}{\gamma}}(s + \kappa) \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}}. \end{aligned} \tag{4.3}$$

Since $\{x(\xi)\}$ is positive decreasing sequence and $\lim_{\xi \rightarrow \infty} x(\xi) = 0$,

$$x(\xi) \leq K^{\frac{\gamma}{\delta-\gamma}}$$

and

$$x^{\frac{\delta}{\gamma}-1}(\xi + \kappa) \geq K, \text{ for } \xi \geq \xi_1$$

Employing the previous estimate in the inequality (4.3), we obtain

$$x(\xi + \kappa) \geq \phi(\xi + \kappa)x(\xi + \kappa)K \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}}$$

and

$$\frac{1}{k^\gamma} \geq \phi^\gamma(\xi + \kappa) \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}},$$

which contradicts (4.2) and thus, we have (1.1) is oscillatory. \square

Theorem 4.2. Let $\kappa \geq 1$. Assume that $\gamma < \delta$, (2.3) and (2.5) holds. If

$$\limsup_{\xi \rightarrow \infty} \phi^\delta(\xi + \kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > 0, \tag{4.4}$$

then (1.1) oscillates.

Proof. We may suppose, on the contrary and without lacking generality, that $\{x(\xi)\}$ is an eventually positive solution of (1.1). We conclude that there is an integer $\xi_1 \geq \xi_0$ such that $x(\xi) > 0$ for $\xi \geq \xi_1$. By the condition (2.3), we have (2.1) which assures that $\{x(\xi)\}$ is from class (A_*) . Since

$$\lim_{\xi \rightarrow \infty} \phi^\delta(\xi + \kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > 0,$$

then we find a constant $L > 0$ with

$$\phi^\delta(\xi + \kappa) \sum_{s=\xi_1}^{\xi-1} q(s) > \frac{1}{L^\gamma}. \tag{4.5}$$

Since $\{\frac{x(\xi)}{\phi(\xi)}\}$ is positive increasing sequence and $\lim_{\xi \rightarrow \infty} \{\frac{x(\xi)}{\phi(\xi)}\} = \infty$,

$$\frac{x(\xi)}{\phi(\xi)} \geq L^{\frac{\gamma}{\delta-\gamma}}$$

and

$$x^{\frac{\delta}{\gamma}-1}(\xi + \kappa) \geq \phi^{\frac{\delta}{\gamma}-1}(\xi + \kappa)L \text{ for } \xi \geq \xi_1.$$

As followed in the proof of Theorem 4.1, sum (1.1) from ξ_1 to $\xi + \kappa - 1$, one have (4.3). By applying the above estimate in (4.3), we derive

$$\begin{aligned} x(\xi + \kappa) &\geq \phi(\xi + \kappa)x(\xi + \kappa)\phi^{\frac{\delta}{\gamma}-1}(\xi + \kappa)L \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \\ &\geq \phi^{\frac{\delta}{\gamma}}(\xi + \kappa)x(\xi + \kappa)L \left(\sum_{s=\xi_1}^{\xi-1} q(s) \right)^{\frac{1}{\gamma}} \end{aligned}$$

and

$$\frac{1}{L^\gamma} \geq \phi^\delta(\xi + \kappa) \sum_{s=\xi_1}^{\xi-1} q(s)$$

which contradicts (4.5) and thus, we have (1.1) is oscillatory. \square

5. Examples

Example 5.1. Let us investigate the oscillation of the following second-order difference equation

$$\Delta \left(2^{\frac{\xi}{3}} (\Delta x(\xi))^{\frac{1}{3}} \right) + 2^\xi x^{\frac{1}{3}}(\xi - 1) = 0; \quad \xi = 1, 2, \dots \tag{5.1}$$

We have $r(\xi) = 2^{\frac{\xi}{3}}$, $q(\xi) = 2^\xi$, $\kappa = -1$, $\gamma = \frac{1}{3}$, and $\delta = \frac{1}{3}$.

Also, $\phi(\xi) = \frac{1}{2^{\xi-1}}$. We can easily show that

$$\sum_{u=1}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(u)} \left(\sum_{s=1}^{u-1} q(s) \right)^{\frac{1}{\gamma}} = \sum_{u=1}^{\infty} \left(1 - \frac{1}{2^{u-1}} \right)^3 = \infty.$$



and

$$\phi^\gamma(\xi) \sum_{s=1}^{\xi-1} q(s) = 2^{\frac{2\xi+1}{3}} + \frac{16}{2^\xi}.$$

So, by Theorem 3.1, (5.1) oscillates.

Example 5.2. Let us investigate the second-order difference equation

$$\Delta \left(2^{\frac{\xi}{5}} (\Delta x(\xi))^{\frac{1}{5}} \right) + 2^{\xi} x^{\frac{1}{3}}(\xi + 1) = 0; \quad \xi = 0, 1, 2, \dots \quad (5.2)$$

Here, $\kappa = 1$, $r(\xi) = 2^{\frac{\xi}{5}}$, $q(\xi) = 2^\xi$, $\gamma = \frac{1}{5}$ and $\delta = \frac{1}{3}$. Also, we have $\phi(\xi) = \frac{1}{2^{\xi-1}}$. We can easily show that

$$\sum_{u=0}^{\infty} \frac{1}{r^{\frac{1}{\gamma}}(\xi)} \left(\sum_{s=0}^{u-1} q(s) \right)^{\frac{1}{\gamma}} = \sum_{u=0}^{\infty} \left(1 - \frac{1}{2^{\xi-1}} \right)^5 = \infty$$

and

$$\limsup_{\xi \rightarrow \infty} \phi^{\frac{1}{3}}(\xi + 1) \sum_{s=0}^{\xi-1} 2^s > 0.$$

So, all the constraints of the Theorem 4.2 are verified and thus, the equation (5.2) is oscillatory.

Acknowledgment

The author is thankful to the referee for his valuable suggestions which improved the presentation of the paper.

References

[1] R. P. Agarwal and P. J. Y. Wong, Advanced topics in difference equations, *Kluwer, Dodrecht*, (1997).
 [2] R. P. Agarwal, S. R. Grace, and D. O’Regan, Oscillation Theory for Difference and Functional Difference Equations, *Springer Science & Business Media: Berlin/Heidelberg, Germany*, (2013).
 [3] B. Baculikova, Oscillatory behavior of the second-order general noncanonical differential equations, *Appl. Math. Lett.*, **104**(106224)(2020).
 [4] E. Chandrasekaran, George E. Chatzarakis, G. Palani, E. Thandapani, Oscillation Criteria for advanced difference equations of second order, *Appl. Math. Comput.*, **372**(2020) 124963.
 [5] S. S. Cheng and Y. Z. Lin, Complete characterizations of an oscillatory neutral difference equation, *J. Math. Anal. Appl.*, **221**(1998) 73–91.
 [6] P. Dinakar, S. Selvarangam and E. Thandapani, New Oscillation conditions for second order half-linear advanced difference equations, *International Journal of Mathematical Engineering and Management Sciences*, **4**(6)(2019), 1459–1470 .
 [7] S. R. Grace and J. Alzabut, Oscillation results for nonlinear second order difference equations with mixed neutral terms, *Adv. Difference Equ.*, (2020) 2020:8.

[8] I. Gyori and G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, *Clarendon Press, Oxford*, (1991).
 [9] D. L. Jagerman, Difference Equations with Applications to Queues, *Marcel Dekker, Inc.*, (2000).
 [10] W. T. Li and S. S. Cheng, Oscillation criteria for a nonlinear difference equation, *Computers Math. Applic.*, **36**(8)(1998), 87–94.
 [11] W. T. Li, Oscillation Theorem for second order nonlinear difference equations, *Math. Comput. Modelling*, **31**(2000) 71–79
 [12] A. Murugesan and K. Ammamuthu, Sufficient conditions for oscillation of second order neutral advanced difference equations, *Int. J. Pure Appl. Math.*, **98**(1)(2015), 145–156.
 [13] A. Murugesan, P.Gopalakrishnan and C. Jayakumar, Oscillation conditions of the second order noncanonical difference equations, *J. Math. Computer Sci.*, (accepted).
 [14] R. E. Mickens, Difference Equations, Theory, Applications and Advanced Topics, *CRC Press, Newyork*, (2015).
 [15] M. Peng, Q. Xu, L. Huang and W. Ge, Asymptotic and oscillatory behavior of solutions of certain second-order nonlinear difference equations, *Computers Math. Applic.*, **37**(1999), 9–18.
 [16] R. N. Rath, S. Padhi and B. L. S. Baric, Oscillatory and asymptotic behaviour of a homogenous neutral delay difference equation of second order, *Academia Sinica (New series)*, **3**(2008) 453–467.
 [17] S. H. Saker, Oscillation of second order nonlinear delay difference equations, *Bull. Korean Math. Soc.*, **40**(3), 489–501,(2003)
 [18] E. Thandapani, I. Gyori and B. S. Lalli, An application of discrete inequality to second order nonlinear oscillation, *J. Math. Anal. Appl.*, **186**(1994), 200–208.
 [19] Zhang and Q. Li, Oscillation theorems for second-order advanced functional difference equations, *Computers Math. Applic.*, **36**(6)(1998), 11–18.

 ISSN(P):2319 – 3786
 Malaya Journal of Matematik
 ISSN(O):2321 – 5666

